WHIGHSEL WIERE XEA - HHIz AR
- Mﬁ? ULK * ULK-V series

LCR 2 [ S o . .
R = j @ 5172 $20- $25 - $32 + H40
LCW
X JSHE  emmm
STM
STG EE%F @ CAD

STS+STL
STR2
i
% FAKES mm| ¢20 | $25 | $32 | ¢40 | $20 | $25 | 32 | @40
~ Ussp | BhfERR ERR YR - HHIEH AR
% ERFIE EREES
=
UB | mARAEN WP 10 Zgni ;g
|| 53|
| nsamn T o
% M E MPa 16
Ei& FERE °c| —10~60(B2, FBHEL) | —10~50(BR, FBHEL)
~UCACZ | REOE HIThER Rc1/8
CAC-N SELEP Rc1/8
_ UCACN | {T1RAFIRE mm 20 (~200) *3%(201~)
N BREEEE  mm/s 50~500
- pcc | & e diies oy
_ SHC | 483k TFE (4RIEHET, JEFERISOVG32iEF )
% *HHh N| 251 | 393 | 643 | 1005 | 251 | 393 | 643 | 1005
~ MFC | sYFRUEER J] 0.166 | 0.308 | 0.424 | 0.639 | 0.166 | 0.308 | 0.424 | 0.639
% * . XA (P5136R7)i#1E, HSA(EERSS) (H4%HS : CB-023SC).
" GRC |
RV33
NHS .
~Hre HITH AR EB SN
# ULK-V-[¥I#2 |-VALVE-KIT-
s BEEEWV) AC100(50/60Hz) AC200(50/60Hz) DC24
R EEhEii (A) 0.056/0.044 0.034/0.026 0.075
| BRE | (R (A) 0.028/0.022 0.017/0.013 ’
% HEE(W) 1.8/1.4 2.1/1.6 18
TR, HEEESEE +10%
ek | BEWE B4
1 : AC100 -+ 200V B RJ7EAC110 - 220V (60Hz) FfEMA.
1712
$20
»25 25+50+75+ 100+ 150 700 5
®32 200+ 250 - 300
$40

E1 0 XFHhiElfTiE, RS ImmARETHE,
A2 L BRIMTREEAXRENGEMNS. F5ATR.

R ER/IVTIE

1 o

$20 35 30 25 35 50 55 55 50 55

$25 10 25 85 30 25 85 50 55 55 50 55
$32 10 25 35 30 25 35 50 55 55 50 55
$40 10 25 55 30 25 55 50 55 55 50 55

1 REATREKIINHX,

680 CKD



ULK ¢ ULK-V series

g
FF R 7W
@ EE/NEBETR Teg
Thtm 245 Tt s 24530 Tt s34%30 Hits24%50 LCW
m B T TN+ | T2YH | T2WH * T3PH | T3YH* |T3WH |LeX
T1H-T1V T3H+T3V TOH - TOV T5H« T5V T8H - T8V
] PLC. 4H%E, PLC. PLC, 45, ICE% [STS.STL
& i PLC PLC. ke i . PLC. ks A
Rz INB e iR PR N %5 4xe 23 (BHETAT), BEERR %5 |STR2
W - NPN#itk| PNPSith NPt | NPNSgit: -
IR E - DC10~28V - JSK/M2
S5 | ACB5~265V | DC10~30V [DCuvEims DC30VILTF DC12/24V [ACL00/110V | DC5/12/24V | ACL00/110V| DC12/24v | AC110V | AC220V | JSG
A | 5~100mA 5~20mA(E3) 100mALLTF 50mALLT | 5~50mA | 7~20mA |50mAK T |20mAKL T | 5~50mA | 7~20mA | T~10mA %
4 4 4 4 A= A=Y lUFcD
N IS T s s T e e e IS O T =
By = St S
ONBFZZAT) | (ONMZHT N | (oNmET N N N ONBY=4T ONBF= B
( ! ! (ONEIZAT) | (ONBRAT) ( ) (ONBS34T) | (ONBEAT) | (ONBSZAT) ( ) ( D 73533
o ACLO0VASImALLT, LMB
MR L b o
BRI AC200VE2mALLT 1mABLF 1OLABR omA ML
1m:33 [Im:18|Im:33 |Im:18| 1m: 18 [Im:33 [Im:18 im: 18 im: 33 :8‘(‘7
B2 gl 3m:87 [3m:49(3m:87|3m:49| 3m:49 [3m:87 |3m:49 3m: 49 3m: 87 BC
5m: 142 |5m: 80 |5m: 142| 5m: 80 5m: 80 5m: 142| 5m: 80 5m: 80 5m : 142 CAC4
H1 ATALEEMGE R, BBABEL T
2! EEAWREEFRS DATIRNELSMITR, BSREEL e
H3 : AHERNBAE0mMAN5 CEIMIE, FEEEREREST25°CH, SEF20mA, |JCALN.
(60°CBY95~10mA,) |[RCS2
RCC2
PCC_
= SHC
SEHEE McP
@ ULK (&1 : kg) | GLC
B - REWR 1T12(S) =0ommBIN=RES FrEE FRSH+ | §10mmiTiE %
£I12 (mm) \| B3 (00) | HEMER(LB) [ 5=8(FA) | B3FE(CA) | EIFEL(CC) | BHE(TA-TB) = | wmnEs| wngsEs RRC
0.47 0.62 0.53 0.62 0.48 0.52 0.005 0.01 'GRC
®25 0.84 1.10 0.99 1.08 0.84 0.94 BEBEFXM|  0.005 0.01 |RV3¥
®32 0.88 1.14 1.03 112 0.88 0.98 |Bh#ER, | 0.009 002 o
$40 1.47 1.73 1.62 1.71 1.49 1.63 0.009 0.02 N
+£m
@ ULK—V (#5170 Faia) (Pl ke
TiE - RERR 1712 (S) =OmmBdRF= R ER mxgg XSt | B0 %
£I12 (mm) \| E23(00) | HEMER(LB) [ E=8(FA) | B3FE!(CA) | EIFEL(CC) | BME(TA-TB) RENEE | WNHEE [
20 0.53 0.68 0.59 0.68 0.54 0.58 0.005 0.01 K
®25 0.90 1.16 1.05 1.14 0.90 1.00 [|iESAFXM|  0.005 0.01 Eom
32 0.94 1.20 1.09 1.18 0.94 1.04 |[MHAMES, 0.009 0.02 BE
$40 1.53 1.79 1.68 1.77 1.55 1.69 0.009 0.02
B HR (& : N)

{fEAES MPa

e T
"”“E”"’*“ 0.5 | 02 | 03 | 04 | 05 [ 06 | 07 ] 08 | 09 | 10 |

20 b 47.1 62.8 942 | 1.26X10% | 1.57X10% | 1.88X10% | 2.20X10? | 2.51X10? | 2.83X10* | 3.14X 10’
4&[o] 35.3 47.1 70.7 942 | 1.18X10% | 1.41X10% | 1.65X10? | 1.88X 107 | 2.12X10? | 2.36 X 10
25 fith 73.6 98.2 | 1.47x10° | 1.96X10% | 2.45X10% | 2.95X10? | 3.44X10° | 3.93X10? | 4.42X10% | 4.91X 10
BR[| 56.7 75.6 | 1.13x10? | 1.51X10? | 1.89X10? | 2.27X10? | 2.64X10? | 3.02X10? | 3.40X10* | 3.78 X 10?
32 | 1.21X10? | 1.61X 10 | 2.41X10% | 3.22X10% | 4.02X10* | 4.83X10* | 5.63X10* | 6.43X10? | 7.24X10* | 8.04X10?
486 | 1.04X10? | 1.38X 10 | 2.07X10% | 2.76 X 10% | 3.46X10% | 4.15%10% | 4.84%10? | 5.53X10? | 6.22X 107 | 6.91X10?
©40 B | 1.88X10? | 2.51X10? | 3.77X10? | 5.03X10? | 6.28%X10? | 7.54X10? | 8.80%10? | 1.01X10° | 1.13X10° | 1.26X10°
48E | 1.65X10% | 2.21X10? | 3.31X10? | 4.41X10% | 5.51X10% | 6.62X10? | 7.72X10? | 8.82X10% | 9.92X10% | 1.10X 10>

CKD

681



U LK ° U LK'V Series

v MERRK
6 @A
o RHTRR(NEFF M)
o (UK -(00-(20-(100) v
—STS.STL| B X (REFXBEIF)
~ o (UK +(00)+(20)-(400) — T0H-R -V (D
@5 4 i
JSG THFF X (REBFF X BHIF)
- S84 (ULK-V)-(00)-(20)-(100)-(1) ———— V) (D)
UFCD 7P (NEFF % FHIF)
uscC
Y (ULK-V)-(00)-(20)-(100)-(1)-TOH- R -V) (D
JSB3
LMB =3
R 0 zups OUE
HCM
T hHoa | O MMES
LBC
CAC4
UCAC2 =10
~CACN O
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
__GLC | @ REE
MFC
BBS
RRC
GRC
RV33x =
HRL
LN
A NS EER
SO BESARRMTE, ESRE680R,
e E2  BAEYVH, aSEFRNEMMLENES,. 17
—F5 2\ F25mmESiE S B ERA LT,
f E3: BiARAREREAERYBEREM LR
BE BIRE,
T EA L TR TY,
6% |35 FREERERSNG. BBANULE, B8G
SBRITIER BT R R 2R,
#6: XFHIRRROESIING, 58A%E%85,
(BESRTHD
ULK-V-LB-20-100-1-TOH-R-JI
WUE . #EIE S
O NHEE : WEM - 45 O %
O =EMR : HAMER *5
® Iz : @20mm
® T : 100mm
@ ®®BE : AC100V(50/60Hz)
@ FXES : HRATOHFX -
O % HiwH1D Q@ EiEm
@%EET  : BAE. BRSFEEE100C. i 3
B&EE200C
O  : BEHIREEG
O it
x4
es2 CKD

(s

O REF

0o

xR

&
]

LB

MR

FA

HilmE= R

CA

BHIFE

PEIF— {48

BHIF, SEENE

AR E A

[EinE A

(mm)
®20

25

¢32

940

£(mm)

7821

HiEl{Tiz

5~700

5~700

5~700

5~700

£1mm

:5
AC100V(50/60Hz)

AC200V(50/60Hz)

DC24V

@ FXRES
HZ LA
S4

S&

bk

S&

TOH

x TOV:%

BEERH

TSH

X TEV:x

mED |

T T

2%

T8H

¥ | T8V

o/e/e (3|

HEETR

2%

T1H

x TV

oeee0 ;

BERERH

24

T2H

X T2V

T3H

¥ | T3V

BERETR

2%

3%

T2WH %

T2WV3x | £

T2YH X

T2YV X

T3WH:3x

TIWVx | R

T3YH:3x

T3YVx

WERTI

2%

3%k

T3PH

T3PV

HEETR

3tk

EHS

T2JH*
XEERKE

1m (15:#)

T2JV:3%

hE
o0 0o o6 oo oo

SR ETRIEERY

2%

3

3m (I

)

5

5m (&

)

O X

HilmE 11

ERE1D

w2

-0 I D

#3171

[Z)
&

=101

o

BEIFREE

BRiBRERE

D=

100T

200C

BLE

250T

400T

EEFHE (THW)

< S rc

axka

O [fif

PEIREES

‘

I
Y

WEFEEMS (FH. BB, AOH)

B2

WEFZEM (., #HE)




U LK ° U LK'V Series

BSRTAE
AXBEHRBESRTGIE [ow__
® Fxasth+ REUE—E ® (LR AstE ® REHHE—E cG
- - - - - LCW
20 W T-20 to—
STM
STG
EL{Z - ARES ISTS-STL
s (36682mE M) st UcAz
= R
(£682ROM) s
JSG
JSC3+J5C4
REIZNARESRREG A oesh
P y usc
ULK-V )-(© % ) - (VALVE-KIT) - (B % E T
JSB3
LMB
— — — ~ LML
XREzh B TER SRR IE HCM
HCA
ULK )-(© &) - ( BRAKE-UNIT s
©uE) - D LB
UCAC2
CAC-N
UCAC-N
RCS2
- . RCC2
REMGESRTGIE PCC
SHC
40 MCP
Gasr e | em | e e [
E7%(00)33 M1-00-20 M1-00-30 M1-00-30 M1-00-30 MFC
SPIEIEEE! (LB) M1-LB-20 M1-LB-30 M1-LB-30 M1-LB-30 B
EZ (FA) M1-FA-20 M1-FA-30 M1-FA-30 M1-FA-30 ‘GRC
#HI (CA) M1-CA-20 M1-CA-30 M1-CA-30 M1-CA-30 RV3:%
Hi4 (TA/TB) M1-TA-20 M1-TA-30 M1-TA-30 M1-TA-40 RN
1 XTRENG, WAWEL, EEUNERERE. AAN. BRUNHREES, LN
2 © WEMIEREY, BELE ERIM1-LB-1, Fm
%3 1 RARERES. GRAE, B4R (00)FRHNE 1A, WESTRESHER, EI
M@‘Eﬂ\-
T
FJ
FK
R Ehs
TORERHIT RIS | essms : co-12260) =
o @ R T ZRAIERNLEN,
AR NEL,
CKD  ess



U LK ° U LK'V Series

LM
LCR
LCG
LOW
LOX
STM
STG
TS+ STL
STR2
UCA2
_ULK::
JSK/M2
JSG
15034504
uUSSD
UFCD
usc
UB
JSB3
LMB

NEPEM R BR F— 58

—

i
=

M|

LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV33
NHS
HRL
LN
+m
&
T
&R
FJ

FK

XZkF"'nuT_HFFﬁEo

EETES

RERTE T L0 IE

M7 Rt

“M*%ﬂ LA

RRBAIE

SEREM

920925 : FEW
¢32- 040 : W

T RS

19

HilnE

fn‘éﬁ

20

EIf

AW

BRI REG

TSR

21

FIRE

RamESKR

B

RS

22

TEEmEMG

T RSB

RE
=g

ELFA

(=P
=N=]

FERE 1L

23

TEEA

SREE

EX

684

RRRIREE

HEE

FERE 1L

24

WiIF

fRRR R E R

T RE15 L

25

[RESD

RS

BK/MEET

kil

26

JEEB

SEEE

O|lo(N|o|jo|d|lw

HIENRA

%W

FRERFE TR0 IE

27

BiR

il

10 |HzhsesE

FiMLL

R RBAE

28

NARES

L]

FRERTE I IE

11 |#I=h1RB

%W

RERFE TR0 IE

29

JainE

0 .A.
=g =]

12 |EI14B

SREE

FRRE 1L

30

TERRRIIR

RIS

13 |EEiEE

Ll

FRERTE TR IE

31

FFRAE

14 |HizhagiE=

il

FRERTE TR0 IE

32

R

il

15 | N7 Mg

il

R RAME

33

BK/MEET

il

16 |BRMEEIT B

TSR

34

FAXRRESH

FHEW

17 |FEEFEHT

T REIRAR

CKD



U L K Series

WIER - BEENE
MERYE em
LCR
@ 7% (00) S
LCW
LCX
STM
- STG
X+1782 STS+STL
XF XE+17%2 STR2
A __WF LL+77%2 UCA2
c v BA BB+1312 v
T.J| LK. |16  Rcl/s 166 30.5 30.5 GD16 %
4-C2 /(HIEhfERRO) RD HD B
" ey : =2 =N % 2Rcl/8 ’ 1503+ J504
S f ‘ USSD
. %ﬁ]a : E if o w UFCD
o [ [
3 1-4(0) = L5 s
o <’ KK TE =
“ > MB [=)
sipmgs,/ MB/ T Lo e
BL MN (3$i0ZEEE)
Il 1[]
L L1l X1+17%2
MO XE1+17%2
16
A WF+2 s
b ‘ T
o
it
. A\ ISA
<
(B ERED
XF+2
(HIEELE)
RD : Hilfifkm R HEREME
HD : BinmRBEREMNE
FELD XTFTLX, T8XHAX, WBERIAFXIHD, RORTREHEHRT, 158i#E693m,
A2 L ARSTRNBUR AR A L A EE R (BN R BV F R AIn1) o
A3 XFMHHRNIMERTE, 58856945, FrE—
EZKﬁ!(oo)EZISRTI
E112 (mm) | BG | BK | | D [ F | 5

A | B | BA | BB | BC | BD_
20 13 58 66 20 20

| BL_| BM | _C_|
29 45 18

$20 6 20 21.4 28 12
$25 23 17 67 69 25 25 6 28 39 55) 20 26.4 32 14
332 23 17 67 69 25 25 6 28 39 55 20 33.6 36 14
40 25 19 74 73 29 30 9 39 50 69 22 41.6 45 14
_
f1Emm) \| Kk | 1L ] wmB [mMM|MN|MO[ T [ v |wF] x | XE [ XF ] 6C | GD | RD | HD |
$20 M8X1.0 124 M18X1.5 10 8 5 5 14 24 182 138 44 4.0 3.0 8.0 7.0
$25 M10X1.25 136 M26X1.5 12 10 5 6 16 23 198 152 46 5.5 4.5 9.5 8.5
$32 M10X1.25 136 M26X1.5 12 10 5 6 16 23 198 152 46 5.5 4.5 9.5 8.5
$40 M12X1.5 147 M26X1.5 14 12 6 7 16 23 211 163 48 7.5 6.5 11.5 | 10.5
BT (T2W, T3W) HWIHLE A FERR
g1#(mm) \ GC | GD |RD | HD [ P | PL|pfibf{d] & |
$20 6.0 5.0 10.0 9.0 17.3 | 19.5 22 (30|30 (17%8/3)+6 168 124
$25 7.5 6.5 11.5 | 10.5 | 19.8 | 22.0 18 |132|46| (173#2/3.25)+7 182 136
$32 7.5 6.5 11.5 | 10.5 | 24.3 | 25.5 15 |(32|46| (173#8/3.25)+7 182 136
$40 9.5 8.5 13.5 | 12.5 || 28.3 | 29.5 12 |134|46| (17#8/3.25)+7 195 147
CKD 685



U L K Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG

SMERSTE

CAD

@ IS (LB)

STS+STL
STR2

UCA2
_ULK:
JSKIM2
JSG
J5C3+ 504
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CACN
UCAC
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3%
NHS
HRL

BT

LA+17%2

LL+1718

BA

BB+1712

40>

16 6C 30.5

16
]

Rcl/8

EET ==

T

.

8

RD

2-Rclf8

30.5

6D 16

HD

LC

BG

LG+17%8

$D

MN (3483 EE)

3

wo L

od

XF+¢

CHIEEE)

F1: RTFTLX, T8XFR, WEBRERIAFFXMHD, RORTRHHRT, &A% 693R0,
2 RTINS S E A s EVEE SR (B S B R AN L)

0

A3 XFMEMINERTE, ESHE6945.
smmm@ﬂua)gzmvr
i1 \| A [AB[ B [BA|BB|BD]|BG]|BL|BN|BT|C

20 6 13 58 66 20 6 29 25 50 18

21.4

28

LFA L H
26 15

M8X1.0

$25

26.4

M10X1.25

932

33.6

M10X1.25

2
40
20 124

7
7
7

ENEENE

6
6
9

196 10

18

160

41.6

25 30 44

M12X1.5

RERYT WHX(TO. T5. T2, T3)
L GC | GD | RD | HD |
40 | 3.0 | 80 | 7.0

68

7z
==

£ il 2 l
iz
==

(2}

25 136

217

182

555

4.5

Ok

8.5

32 136

[ BN NG, |

217

182

5.5

4.5

9.5

8.5

40 147

"m*?F;E(Tzws T3W)  [mhaE
(XFlbldl ¢ |
44 (30|30

mmmmE

7

230

193

5]

6.5

L5

10.5

$20 6.0 5.0 | 10.0 | 9.0 (17%8/3) +6

$25 7.5 6.5 | 11.5 | 10.5 | 46 |32 |46 | (174#8/3.25)+7
$32 7.5 6.5 | 11.5 | 10.5 | 46 |32|46 | (f7#8/3.25)+7
$40 k5] 85 | 135 | 12.5 | 48 |34 |46 | (17%#8/3.25)+7

CKD



U L K Series
WER - PIEETFE
SMERSE G2 LCM

LCR
@ FilFEZH (FA) LCG
LCW
LCX

X+17%8 |STM
A __WF LL+1772 ISTG
[ BA BB+ 1718 v | STS+STL
o T 16, Rcl/8  |16,6C_30.5 30.5 6016 | K| 3322
4- -

|8 _ /Emhmin) |8 RD HD 8

M - ‘ ZRcl8

51 JSK/M2
@ i [ | | i1 = JSG
1563+ 5C4
USSD

T
UFCD
MINFEEB 20 10 MBJ usc
4-FD BL MF BG UB
FL W FG+1T#2 JsB3
MN (350155 6F) MB
LML
X1+1772 [HCM
HCA
MO 16 e
A WF+8 8 |CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2

o — - | S res

< FG1+1742 PCC_
SHC

(LB ERRED MCP

XF+2 GLC

GRS MFC___
BBS

1 XFTUR, T8RF%, WERTRFRMHD, RORTRMIHRT, HSHAH6I3R, o
212 : ZRﬂ'Eg'J\?&EF\LXE%"%rﬁ'JJ:ﬁ{ﬁHX%&(Eﬂ'h?&ﬁ)ﬁﬂ'\]?&?%ﬁﬁﬁﬂl)o GRC
3 XTFMEFRNIMERTE, iE2IAE694, RVIE
'ﬁﬁﬁa“iiﬁéﬂ(FA)EZthl' 'NHS
20 20 | 13 | 58 | 66 | 20 | 20 29 | 45 | 18 | 214 | 28 | 12 M8X1.0 | 124 | mi8x1s (LN

25 23 | 17 [ 67 | 69 | 25 | 25 39 | 55 | 20 [26.4 | 32 | 14 | Mi0x1.25 | 136 | M26x15

32 23 | 17 | 67 | 69 | 25 | 25 39 | 55 | 20 [336] 36 | 14 | M10x125 | 136 | M26x15  mEET

)

$40 25 19 74 73 29 22 | 416 M12X1.5 147 M26X1.5 b i
F

) 0

BM
BD
)
77\
7
&
L Fc |
FH
2
0
oF

BC

)

olo|o | o

30 50 | 69 45 | 14
_ RERT BFX(T0, 15, 72, 73)  [HES
M.
20 32 [ 10 | 8 5 | 14 [208] 24 | 182 | 20 1412| 34 | 40 | 54 | 40 | 3.0 [ 80 | 7.0 [wx
$25 45 | 12 | 10 6 | 16 |185| 23 | 198 | 28 1565 | 44 | 64 | 80 | 55 | 45 | 9.5 | 85
6
7
i

$32 4.5 12 10 16 | 185 | 23 | 198 28 156.5 | 44 64 80 55 | 45 | 95 | 85
$40 4.5 14 12 16 | 185 | 23 | 211 28 167.5 | 44 64 80 75 | 6.5 [ 11.5| 10.5

b e = 43 S pa R
FI12 (mm) GC GD|RD |HD [ XF |b]|d [] [ xa FG1

o|lu|la|ln
~N |~ |~N|o

$20 6.0 | 5.0 | 10.0 | 9.0 | 44 |30 (30| (17#8/3)+6 168 127.2
$25 7.5 | 65 | 11.5 | 10.5 | 46 |32 |46 | ({7%#2/3.25)+7 182 140.5
$32 75 | 6.5 | 11.5 | 10.5 | 46 |32 |46 | (17%#8/3.25)+7 182 140.5
$40 9.5 | 85 | 13.5 (125 | 48 |34 |46 | (472/3.25)+7 195 SIS

CKD 687



U L K Series

—cM SMERSTE
L6 @ BEFE(CA) CAD
LCW P
x| CA+1712
—m | A __WF LL+1712 GE
st | c | v BA BB+{7#2 cL ™
SIS STL | T K |16 Rcl/8 16 GC 30.5 30.5 GD16 CB CC
STR2 8 |/ Ghlznm@sar) 8 RD HD 8 ™
UCA2 J M= = ‘ 2Relf8 #2 OCDo
Sl i A1 " X
| m ‘
JSK/M2 i . i pry -
& e -, o -
1503+ J5C4 g / ol
USSD KK VB &
— CEEl | hE a
EEUGCDE HERSD BG wooe 0 %
usc CJ+17#
UB R
— U] MN GBI
LMB ]
LML )
~ HeM | Mo | |
HCA
LBC A WF+2
CAC4 b |,
UCAC2 ‘
CACN
UCACN | )
RCS2 | €
RCC2
PCC
SHC XF+2
MCP (HIALE)
GLC - .
T MEC | @ WXRIEM (£IFIHB2)
__ BBS | CA+1T7i2
__RRC__| A WF LL+17%2 GE BL
GRC c_| v BA BB+1712 CL CM BK
_RV3x | T | | K |16_ Rc1/8 16 GC 30.5 30.5 GD16
. . Qs i}
__ NHS | 8 /(&iznm@im) 8 | | _RD HD |8 m “| | A2
HRL S e = 2-Rcl/B W 2
7LN Z I‘l ‘/ 1 -—-----
+m i | | | | K 1 . g o
& T 77 E ~ I'H— -Hh olu
—Em | oo W L] O
—gE | KK | g N 'y
_ RvEs | HhEER MB a | ==
FJ A BG 10 8 0 % i 3
FK CJ+1718 |
FE — 7 BN
— ol 75 20 N 4-KFTX11 1020 20 [10
_ &k phy 40 CR
55 cs
L1 XFTLN, T8XHAR, WBETRINARXIHD, RORTRHELRT, iF8#HE6935,
A2 L REREQ. F3 : ARTHVMNSR UG TR LS AERNES (B R B FESHAIML) .
4 XTFHHFRIIMERTE, 1825694,
iEWﬁ!(CA)EZISR?J’
g1@(mm) \| A [ B |BA[BB|BC|BD[BG|BK[BL|BM| C [ D | F[FC|GE| K| Kk ([LL] MB |
$20 20 | 13 | 58 | 66 | 20 | 20 | 6 | 20 | 29 | 45 | 18 |21.4| 28 | 26 | 55 | 12 | M8X1.0 | 124 | M18X15
$25 23 | 17 | 67 | 69 | 25 | 25 | 6 | 28 | 39 | 55 | 20 |26.4| 32 | 35 | 62 | 14 | M10X1.25 | 136 | M26X1.5
32 23 | 17 | 67 | 69 | 25 | 25 | 6 | 28 | 39 | 55 | 20 |33.6| 36 | 35 | 62 | 14 | M10X1.25 | 136 | M26X1.5
40 25 | 19 | 74 | 73 | 29 | 30 | 9 | 39 | 50 | 69 | 22 |41.6| 45 | 35 | 62 | 14 | M12x1.5 | 147 | M26XL5
_ RERT 5 (T0, T5, T2, T3)
g1 (mm) \[MM[MN[MO[ T | v |wF] cA]cB]cc]cp]ci]cL]cm]co]co]cr]cs | Ge[GD[RD[HD]
20 10| 8 | 5 | 5 | 14|24 |223] 14| 10|10 |193| 31|24 | 22| 8 |48 |68 | 40 |3.0]80]70
$25 12 | 10| 5 | 6 |16 | 23 | 244 | 18 | 12 | 12 | 209 | 32 | 30 | 26 | 10 | 50 | 70 | 5.5 | 45 | 9.5 | 8.5
$32 12 10| 5 | 6 |16 | 23 | 244| 18 | 12 | 12 |209| 32 | 30 | 26 | 10 | 50 | 70 | 5.5 | 45 | 9.5 | 8.5
®40 14 | 12| 6 | 7 |16 | 23| 257 | 18 | 12 | 12 |220| 32 | 30 | 26 | 10 | 50 | 70 | 7.5 | 6.5 [ 11.5|10.5
ﬁﬁ*(Tzw‘ T3W) [wmes
g1E(mm) \| GC[GD[RD[HDJXF|bfd] & |
$20 6.0 | 5.0 [10.0] 9.0 | 44 |30|30| (47%2/3)+6
25 7.5 | 6.5 |11.5[10.5| 46 |32 |46 | (47#2/3.25)+7
$32 75 | 6.5 |11.5[10.5 46 |32 |46 | (1752/3.25)+7
$40 9.5 | 85 |13.5|12.5| 48 |34 |46 | (17%2/3.25)+7
688 CKD



U L K Series

WIER - BEENE
A —
SMER~TE LCM
LCR
@ EEHIF—{48(CC) CAD th\/
MN GHHEE) Lex
STM
STG
MO STS+STL
CA+17%2 STR2
A __WF LL+1752 ™ UCA2
c.| WV BA BB+17%2 CB CC
T K Rcl/8 16 GC_30.5 30.5 GD16 JSK/M2
: f/(ﬁﬂufaﬁzars%u) 8 || RD D . U6
p__ga 2-Rcl/8 ‘ ®CDho 1503+ Jc4
§ ‘ USSD
K18 [ | B — UFCD
T f‘( w
N =)
KK —
.. o
MAEEB/ MB BG 1o | & 10 |
CJ+17%8
A WF+2
b |,
\
© : _ _
< r—“—L
XF+2
(HIELE)
@ IR (GEFmB2)
CA+1712
A __WF LL+17%2 ™ BL
C v BA BB+1T742
T [K_[16_ Rci/s 16 GC 30.5 30.5 GD16 cQ 3
| s /GIEERD) s | | Ro . . == | | 42
OMM - E—- - ‘ 2Rel/8 ‘ ™ —
J HH @) Y
T [ 1 e 2 gBan-
. L (@) = QR o
= —) WA g8 O
KK 1 @ @,%%,@
AR EB MB 10 g o w T 2
BG CJ+1Ti2 [l
TE ) 4) \\
Jrsl 20 M agA7x1l |10]20 20 110
o 40 CR
55 cs

EL1: EFTLx, T8HX, WAL TR XHHD, RORTRMHRT, HSiHE693R,
A2 L ARSAUNE R LS E R B N EE SR (BN R R B F RN ) o

3 RFMENIMERTE, ESIAE6947,

iEK—Wﬁ!(CC)EZ&R#

fI@mm) \| A [ B [ BA|BB|BC|BD[BG[BK[BL]BM] c | D[ F [ K[ kk [|LL_

20 | 13 | 58 | 66 | 20 | 20 6 20 | 29 | 45 | 18 | 214 | 28 | 12 M8X1.0 | 124
$25 23 17 67 69 25 25 6 28 39 55 20 26.4 32 14 M10X1.25 136
$32 23 17 67 69 25 25 6 28 39 55 20 33.6 36 14 M10X1.25 136
$40 25 19 74 73 29 30 9 39 50 69 22 41.6 45 14 M12X1.5 147

m RERST HHR(T0, T5, T2, T3)

mmmmm | GC | GD | RD | HD_
$20 M18X1.5 | 10 8 5 5 14 189 160 | 21 | 22 | 16 | 56 | 76 | 40 | 3.0 | 80 | 7.0
$25 M26X1.5 | 12 | 10 5 6 16 | 23 || 203 | 12 9 8 [171( 21 | 24 | 16 | 56 | 76 || 5.5 | 45 | 9.5 | 85
$32 M26X1.5 | 12 | 10 5 6 16 | 23 || 208 | 14 | 12 | 10 |173| 26 | 24 | 16 | 56 | 76 | 55| 45 | 9.5 | 85

6 | 7

M26X1.5

$40
_ 'H?;:F*(T2W‘ T3W) Bﬁ"‘ﬁ
£1#Z (mm)

186 | 30 | 30 | 20 | 60 | 80 || 7.5 | 6.5 | 11.5 | 10.5

10.0 (??&/3)+6
®25 7.5 | 6.5 |11.5]|10.5| 46 |32 |46 | (47%2/3.25)+7
®32 75|65 [11.5|105| 46 |32 |46| (7%8/3.25)+7
®40 9.5 | 8.5 |13.5|12.5| 48 |34 |46| ({7%2/3.25)+7

CKD 689



U L K Series

o . -
L SMERYE
% @ HilEEHE (TA)
LCX N X+1712
STM TL ™ A WF LL+17%8
STG BL C \ BA BB+17%2
STS. STL BK T TE |16 Rcl/8 16 GC 30.5 30.5 GD 16
STR2 o 4-C2 TB(8 (&Izpaere]) I8 . RD HD 8
UCA2 el | \ = ‘ 2-Rcl/8 ‘

J
JSK/M2 a m ,_Ll“
JSG = o\ ! \

JSC3:JSC4 3 M)
USSD u ' KK
UFCD - IBEEB 10
Cuse | " Tl o
UB | T1=
JSB3 MN (3O E)
LMB
LML
HCM
HCA
LBC A WF+2
CAC4 bl
UCAC2
CAC-N
UCAC-N
RCS2
RCC2 TG1+17%8

PCC XF+2 PAKKRE
SHC GHIHLE) (BEERD
7“6455 @ i GHIETHB2)
MFC
7885 TL ™
RRC BL
GRC
RV3: e
NHS 2
HRL
LN

—Em | J TN

+5 o ] KK
T HAFREB - 10 MB /
Edi TF, TG +1712
FJ . : :
FK 10 | 20 |20 10 4-KFATX11 20 | | 7.5

o
>
(=)

<

MM

-111 | | iii'L_

FA
TH

$TDdo

BC

oD
S

B

w

od

N X+1712

WF LL+1712
) BA BB+1712 )\
TE|16_ Rc1/8 16 GC 30.5 30.5 GD16 | K

TCE: ) RD HD 100
| 1 = 2-Rc1/8

\
I T
[ | | | T

- 0>
<

3
~
(@]
N

co

BM
BD
)
2,
FA
H
)]

PF

OO

$TDdo

50
w
[

Eim TS 55

EX

L XFTLX, T8 XHARX, WBERXFFXHHD, RORTREHENHRT, E8RE693M,
2 1 ORIV S LS B A N EE R (BN S S SR R AN ) o
A3 XTFHHFRIIMERTE, 1825694,

miimE A3 (TA) B4R

_—
f1(mm) _\| A | B | BA|BB|BC[BD[BGIBKIBLI|BM| C{D]F|FA|KI| KK |LL| MB |
$20 20 13 58 66 20 20 6 20 29 45 18 26 12

214 | 28 M8X1.0 124 | M18X1.5
$25 23 17 67 | 69 | 25 25 6 28 39 | 55 | 20 |26.4 | 32 | 35 14 | M10X1.25 | 136 | M26X1.5
$32 23 17 67 69 25 25 6 28 39 55 | 20 336 36 | 35 14 | M10X1.25 | 136 | M26X1.5
$40 25 19 74 | T3 29 30 9 39 50 | 69 | 22 (416 45 | 35 14 M12X1.5 | 147 | M26X1.5

RERY % (T0, T5, T2, T3)

(7B TD | TE | TF [ TG [ TH [ TL{TM [ TN | TR | TS | GC ] GD | RD | HD |
45| 8 9 30 | 46 | 70 | 90 | 4.0 | 3.0 | 8.0 | 7.0

lmnmnmm
10 8 5 5 14 | 24

20 182 19.5(1425(29.5| 8
25 12 10 5 6 16 | 23 | 198 || 5.5 | 10 11 |17.5|1575| 39 | 12 | 40 | 64 | 80 [ 100 55| 45| 9.5 | 85
®32 12 10 5 6 16 | 23 [ 198 || 5.5 | 10 11 [ 17.5|15715| 39 12 | 40 | 64 | 80 |100| 55| 45| 95| 85
40 14 | 12 6 7 16 | 23 (211 55| 10 11 (175|1685| 44 | 95| 53 | 72 | 93 | 113 || 7.5 | 6.5 [ 11.5|10.5
%ﬁ*(Tzw\ T3W)  [wmidE G ARE
i1E(mm) \|6C[GD[RD[HD]IXF[b]d] ¢ | x1 | TGl
20 6.0 | 5.0 |10.0| 9.0 | 44 [30 (30| (17%8/3)+6 168 128.5
25 7.5 | 6.5 |11.5(105( 46 |32 (46| (4748/3.25)+7 182 141.5
®32 7.5 |65 115105 46 |32 (46| (4748/3.25)+7 182 141.5
40 9.5 | 85 |135[12.5( 48 |34 |46 | (1748/3.25)+7 195 152.5
690 CKD



U L K Series

A —
SMER~TE LCM
LCR
@ GimE A (TB) CAD LCG
X+1i782 ™ LCW
A | WF LL+7772 TR LCX
Y BA BB+1312 v BL 72%/'
K |16 16 6C 30.5 305 G016 [E |STG
T4 K, Rc1/8 BK STS+STL
8. LRD HD 8 - 4-C2

I~ = [sTR2
o 2-Rc1/8 T _mf oS

: T ‘ ULK3x
. i [ , l‘-,__\)] zg f\ e JSK/*

B E/E JsG
°
IATEEB MB 10
-

MM

503+ J5C4

: ' ussD
= UFCD
TJ+1712 XK usc
MN (3B EE) uB
JSB3
LMB
LML
MO HCM
A WF+2 HCA
b LBC
\ CAC4
UCAC2
CAC-N
by UCACN
L RCS2
RCC2
XF+2 PCC
(HBALE) SHC
s (v MCP
@ gt (AIFMB2) X+1712 |GLe

A WF LL+17%2 N |MFC
— L TM™ BBS

c BA BB+1712 v SR

T

¢D
=

¢d

<

BL RRC_
16 Rcl/8 16 _GC _30.5 30.5 GD 16 _|TE, BK GRC

s, |/ @ERIRO) g | | pp HD 4-C2 RV3%

8 ™ [RVO7™
Ve o )-Rel/8 T‘ —ay (NHS
2 i S HRL

— ii: [ IilE LN
%fa +m
S H &

KK VB 1 8 [
FHAEEB 10 a 10, '-é_ 3 425he

=

BM
D

FA

®TDao

TJ+1772

7.5 20 4KATX1L fo | 20 20 10 "

~
™ 40 TR 3k

FLl RTFTLX, TR, MBERHAAXEIHD, RORTRHEHRT, 5SFBE6930,
A2 1 ART By R SRR L AL (B R ER ST RE L) .
A3 XFMENIMERTE, 58iM569401,

E_ AlinE =8 (TB) B R
£1#(mm) _\| A_| B | BA]BB|BC|BD]BG|BK|BLIBM] C ] D] FJFA]KI] K JLL] MB _
20 | 13 | 58 | 66 | 20 | 20 | 6 | 20 | 29 | 45 | 18 26 | 12

$20 214 | 28 M8X1.0 124 M18X1.5
$25 23 17 67 69 25 25 6 28 39 55 20 | 264 | 32 35 14 M10X1.25 | 136 M26X1.5
$32 23 17 67 69 25 25 6 28 39 55 20 [33.6| 36 35 14 M10X1.25 | 136 M26X1.5
$40 25 19 74 73 29 30 9 39 50 69 22 | 416 | 45 35 14 M12X1.5 147 M26X1.5
_ RERT % (T0, 5, T2, T3)
(MM |MN[MO| T | v |WF| X | XK] | GC | GD | RD | HD |
$20 10 8 5 5 14 24 | 182 | 9.5 8 9 29.5 | 1525 8 30 46 70 90 40| 3.0 | 80 | 7.0

$25 12 10| 5
$32 12|10 5
40 14 | 12 | 6

6 16 | 23 | 198 |105| 10 | 11 | 39 [1645| 12 | 40 | 64 | 80 | 100 | 55 | 45 | 9.5 | 85
6 16 | 23 | 198|105 10 | 11 | 39 [1645| 12 | 40 | 64 | 80 | 100 | 55| 45 | 95 | 85
7 16 | 23 (211|105 10 | 11 | 44 |1755| 9.5 | 53 | 72 | 93 (113 | 7.5 | 6.5 [11.5]|10.5

R
_ WX (T2W, T3W) [[@ELaE
EZ(mm) \| GC|GD|RD|HD|XF|b|dl ¢ |
9.0

$20 6.0 | 5.0 | 10.0 44 |30 30| (17%2/3)+6

$25 75 | 6.5 [11.5(10.5| 46 |32 |46 | ({742/3.25)+7
$32 75| 6.5 [11.5]10.5| 46 |32 |46 | (17#8/3.25)+7
$40 9.5 | 85 [13.5|125 48 |34 |46 | (17#8/3.25)+7

CKD 691



U L K'V Series

LCM
LCR
LCG
LCwW
LCX
STM
STG
STS-STL
STR2
UCA2
JSKIM2
JSG
5C3- 54
USSD
UFCD
usc
UB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV33x
NHS
HRL
LN

M
&
o
203
F)

FK

RE
ZHE

69

SMERTE
@ EHIsh AR
39.4
I B J
(HIzhARERO) *T
T < ®
X T - ‘ )
I & NI A
5 o N,
— o
[} i
A
B C
D E 8
g i)
> M5
(FES) ﬁ
iy w \,\_‘
[
© © it i
| -
@ -
—
WF+2
b
o — _
b
XF+2
(HIEEE)

KX TFRRTLSNS B AR 568501,
1 L ERTEYNE RIS R R R EVEE S (B R RV F RN L)

F2: XFHHFRSMERTE, ESIR$E6945T,

N

CKD

= =4
$20 56.5 25 315 8 15 54 26.5 17 M5 8 12
®25 57 21 36 4 18 60 31 16 Rc1/8 9 13
®32 57 21 36 4 18 60 31 16 Rc1/8 9 13
®40 57 24 33 7 18 65 36 16 Rcl/8 9 13
Gl i
m@mm) \a [WF] XF [b]d]

$20 20| 24 | 44 3030 (7%8/3) +6

»25 23| 23 | 46 3246 (47%2/3.25)+7

»32 23| 23 | 46 3246 (17%2/3.25)+7

®40 25| 23 | 48 |34 |46 (17%8/3.25) +7



U LK ° U LK‘V Series
SMER~TE
ULKRFIEA (FT1, T8FHX. FNBERIHAX)IMERTE LCM

LCR

@ ULK-33%-3%3%-T1H/V. T8H/V. T3YH/V 7&3\/
LCX

ST™M

STG
STS+STL
STR2
UCA2
JSKIM2
JSG
G
USSD
UFCD
uscC

RD  30.5 30.5 HD

FXRRERT

EEIRA(TL, T VBIRA (T I
| P

P1 (P) °
2 2 2
#I1E (mm) THTSY THTSY TS%T

$20 7.0 2.0 6.0 1 28.5 23.1 19.5 22

$25 8.5 3.5 7.5 2.5 31.0 25.6 22.0 18
$32 8.5 3.5 7.5 2.5 35.5 30.1 25.5 15
$40 10.5 5.5 9.5 4.5 39.5 34.1 29.5 12

CKD 693



ULK ¢ ULK-V series

= AS = N
LM MfFSMEZ R~ B (GE3E s - 2185 - 1)
LCG
LG | CAD
LW | @ BEFRERE() - HE @ © WEFEEL (V) 5@
% SREREFHI(L IR SRERFFHI (LR
S0 | CD H1o CQ 5 CD H1o
STS+STL
STR2 N oT — oF
UCA2 D} j = D =
= S
JSK/M2 i, 3 [0 g
153+ J5¢4 SR 3 mid
USSD / /
~ USSD | KK CH CH
UFCD KK
LngC it AR E R F O,
= i
% M1-1-20 M8X 1.0 M1-Y-20 M8X 1.0
A M1-30 | 25-32 |14 36 | 12 |25 | 10 | Mi0x125 | 16 | 12 [ 106 M1Y¥30 | 25-32 |20 3612|2525/ 10 | mox1s | 16 | 12 | 197
LBC M1-1-40 | 40 | 14|36 |12 |25 10 | M12x15 | 16 | 12 | 100 M1Y-40 | 40 |20]36| 122525/ 10 [mx1s| 16 | 12 [193
CAC4
UCAC2 0
~ CACN | @ WERL#EH(B2) M W, e O WEIREEFREH(P) MIE . RESES LR
UCACN
RCS2 50 30
RCC2 15 20 A
PCC ~
SHC Tﬂ 7 EL T
MCP |
GLC 1 ’—lc ! : x| >
MFC D o an g J R O 13,3
_ BBS | ‘ 5 2-0D
RRC N n N | -¢
GRC ® I B PN
RV3:x rMR )
NHS -4 n
HRL ] ~
LN
£m EETIR = ey =
& B Emnm | SRR | o = me |CREE co|eL|T|x]|v[|5TF
e | (mm) (g) (mm) (€3]
#ms= | M1-B2-20-CC 20-25 8 8 | 145 M1-P-20 20 37| 4 | 10| 28 | 16|105] 18 | 29
3] M1-B2-30-CC | ULK-CC 32 10 11 | 163 M1-P30 | 25:32:40 | 46 | 4 | 12 | 37 | 2.3 [12.5| 22 | 50
}fgﬁ M1-B2-40-CC 40 2 | 1 [170 E: meemEeENERE R RS RER O,
R T M1-B2-30-CA 20 10 11 | 158
g% | ————1 1 ULK-CA
B | B240-CA 25-32-40 12 11 |162
M1-B2-20-TA 20 8 8 |132
TR L ULKTA/TB
M1-B2-30-TA 25-3240 10 11 142
AL D XYERRFREYI A —3T.
A2 0 ERBSHEEEE - ENRS, 29—F
(B2, HMBRMTE.)
@ NWEIFZEMHARH (P1) (P2) HE W
SREREFEI(L bR
0.9 B 0.9 %
1ate
eig
imﬁlf é
M1-P1-20 |ULK-CC- 20/25 EfsT
M1-P1-30 |ULK-CC-32 332810 9 B9 | 21
M1-P1-40 |ULK-CC-40 3 [ 3212 9 B9 | 32
M1-P220 |ULK-CA-20 25 |20 [ 10 | 9 Ef59 | 16
M1-P2-30 |ULK-CA-253240 | 27 | 22 | 12 | 9 Ef9 | 24
b el D e B e AL SN G O V= TE
(182, HHMERRKTE.)
694 CKD





